enters the interstitium (extra cellular fluid) and/or the cells of the tissues. The delivery of a drug from the plasma to the interstitium primarily depends on:
• blood flow
• capillary permeability
• the degree of drug binding to plasma proteins
• the relative hydrophobicity of the drug.




A. Blood flow
The rate of blood flow to tissues varies widely as a result of the unequal distribution of cardiac output to the various organs. Blood flow to the brain, liver, and kidney is greater than that to the skeletal muscles, most viscera, skin, and fat.
This differential blood flow explains the short duration of hypnosis produced by a bolus IV injection of thiopental. The high blood flow, together with the high lipid solubility of thiopental, permit it to rapidly move into the CNS and produce anesthesia. Slower distribution to skeletal muscle and adipose tissue lowers the plasma concentration sufficiently so that the higher concentrations within the CNS decrease, and consciousness is regained. This phenomenon called “Redistribution” and it accounts for the extremely short duration of action of thiopental and compounds of similar chemical and pharmacologic properties.

